Problem 1: According to Section 4.2 for E=-7-24, B=0 the solution reads

$$u'(x) = x u(x) + e^{-x^{2}x}(-8x) = x u(x) + \frac{8x}{4x^{2}+2}u(x)$$

$$\frac{u'(x)}{u(x)} = x + \frac{4x}{2x^2 + 1}$$

With
$$V_{-}(x) = \left(\frac{u'(x)}{h(x)}\right)^2 - \frac{x^2}{2} + 2c$$

$$= \left(x + \frac{4x}{2x^2+1}\right)^2 - \frac{x^2}{2} - 5 = \frac{x^2}{2} + \frac{8x^2}{2x^2+1} + \left(\frac{4x}{2x^2+1}\right)^2 - 5$$

Compare wik general formula for arbitrary WEIN

$$\left(\frac{H_3(ix)}{H_1(ix)}\right)^2 = \left(\frac{8ix^3 + 10ix}{4x^2 + 2}\right)^2 = -4x^2\left(\frac{2x^2 + 3}{2x^2 + 1}\right)^2$$

$$V_{-}(x) = \frac{x^{2}}{2} - 4x^{2} \frac{2x^{2}+3}{2x^{2}+1} + 4x^{2} \frac{(2x^{2}+3)^{2}}{(2x^{2}+1)^{2}} - 5$$

$$= \frac{x^{2}}{2} + \frac{4x^{2}}{(2x^{2}+1)^{2}} \left(2x^{2}+3\right) \left(2x^{2}+8 - 2x^{2}-1\right) = \frac{x^{2}}{2} + \frac{4x^{2}}{(2x^{2}+1)^{2}} \left(2x^{2}+3\right) 2 - 5$$

$$= \frac{x^{2}}{2} + \frac{8x^{2}}{(2x^{2}+1)^{2}} \left(2x^{2}+1+2\right) - 5 = \frac{x^{2}}{2} + \frac{8x^{2}}{2x^{2}+1} + \frac{16x^{2}}{(2x^{2}+1)^{2}}$$

Problem 2: Schrödinger like of for
$$V_{+}(x) = 0$$
 and $E = -\frac{t^{1}k^{2}}{2m} < 0 = E_{0}$

$$-\frac{t^{2}}{2m} \partial_{x}^{2} u(x) = -\frac{t^{1}k^{1}}{2m} u(x) \implies u^{n}(x) = k^{1} u(x)$$

Great solution $u(x) = d e^{kx} + \beta e^{kx}$ or who loss of generally $d = 1$

$$u(x) = e^{kx} + \beta e^{-kx}$$

$$u(x) = e^{kx} + \beta e^{-kx}$$

Clock: $u(x) = 0$ $e^{kx} = -\beta e^{-kx}$ $A \beta = -e^{2kx} < 0$

Hence $B > 0 \implies u(x) > 0$

Potential:

$$V_{-}(x) = \frac{t^{2}}{m} \left(\frac{h'(x)}{\mu(x)} \right)^{2} - V_{+}(x) + 2C$$

$$= \frac{t^{2}k^{2}}{m} \left(\frac{e^{Kx} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right)^{2} - \frac{t^{2}k^{2}}{m}$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

$$= \frac{t^{2}K^{2}}{m} \left[\frac{e^{KK} - \beta e^{-Kx}}{e^{Kx} + \beta e^{-Kx}} \right]^{2} - 1$$

Special case B=1:

$$\frac{e^{kx} - e^{-kx}}{e^{kx} + e^{-kx}} = + arh kx$$

$$V_{-1}(x) = \frac{h^2 k^2}{m} \left(\frac{1}{4anh^2 kx} - 1 \right) = \frac{t^2 k^2}{2m} \frac{2}{\cosh^2 kx}$$

$$E[\phi] = \int dx \left[\frac{1}{2} \dot{\phi}^2 + \frac{1}{2} \dot{\phi}^{32} + U(\phi) \right]$$

$$\frac{dE}{dt} = \int dx \left[\frac{1}{2} \partial_{4} \dot{\phi}^{2} + \frac{1}{2} \partial_{4} \dot{\phi}^{32} + \partial_{4} U(\phi) \right]$$

$$= \int dx \left[\frac{1}{2} 2 \dot{\phi} \ddot{\phi} + \frac{1}{2} 2 \dot{\phi}^{3} \dot{\phi}^{3} + U(\phi) \dot{\phi} \right]$$

$$= \left[\dot{\partial} x \left[\dot{\delta} \dot{\delta} + \dot{\phi}' \dot{\phi}' + \dot{u}'(\delta) \dot{\phi} \right] \right]$$

$$\int dx \, \phi' \, \dot{\phi}' = \left. \phi' \, \dot{\phi} \right|_{-\infty}^{+\infty} - \int dx \, \phi'' \dot{\phi}$$

$$= \int dx \left[\dot{\phi} - \phi'' + u'(0) \right] \dot{\phi} = 0$$

$$W(x) = sqm x$$
 $\wedge V_{-}(x) = W'(x) - W'(x) = 1 - 2 \delta(x)$

Hint:
$$\int_{-\infty}^{2} dx \, dx \, sgn x = sgn x \Big|_{-\infty}^{2} = sgn + 1 = \begin{cases} 0.240 \\ 2.270 \end{cases}$$

$$\int_{-\infty}^{2} dx \, 25(x) = \begin{cases} 0.240 \\ 2.270 \end{cases}$$

$$V_0(x) = N \exp\{-\int dx W(x)\} = N e^{-|x|}$$

Proof: $\int_0^x dx \operatorname{sqn} x = \begin{cases} \frac{1}{2} & \frac{1}{270} = 121 \\ -|-2| & \frac{1}{240} \end{cases}$

$$\phi_{s+}(x) = \int dx \, \psi_{s}(x) = \frac{sqn \times (1 - e^{-1x1})}{e^{-1x1}} \quad \text{with} \quad N = 1 \qquad \Phi_{t} = \pm 1$$

$$P(s) = \int dx \, \psi_{s}(x) = \frac{sqn \times (1 - e^{-1x1})}{e^{-1x1}} + sqn \times (e^{-1x1}) sqn \times = e^{-1x1}$$

$$= 0$$

Heny:
$$U(\phi_{s}) = \frac{1}{2} (\phi_{s}^{1} (\lambda))^{2} = \frac{1}{2} e^{-2|x|}$$

analytidly condinue beyond \$4 = ±1

$$U(\phi) = \frac{1}{2} (1 - 101)^2$$

